## School of Outdoor Recreation, Parks & Tourism

#### **Equipment Rental Programme**

### **Rental Rates 2020/2021**

ORPT Equipment Depot 874 Tungsten St. MP1020

(rear of building, accessible from Copper Cres.)

(807) 343-8323 orequip@lakeheadu.ca www.orptdepot.lakeheadu.ca



# Lakehead University School of Outdoor Recreation Parks & Tourism Equipment Rental Fees (incomplete list)

		Daily	Weekend	Week	Month
		base	F - M	7 days	4 weeks
		rate	base x 2	base x 4	base x 15
Cai	mping & General Use				
axe		\$3.00	\$6.00	\$12.00	\$45.00
bivi sac		\$5.00	\$10.00	\$20.00	\$75.00
camp saw	folding or buck saw	\$2.00	\$4.00	\$8.00	\$30.00
compass		\$2.00	\$4.00	\$8.00	\$30.00
compression sac	various sizes	\$1.00	\$2.00	\$4.00	\$15.00
cooking utensil kit	basic tools for cooking	\$1.00	\$2.00	\$4.00	\$15.00
cooler	Coleman 48L	\$4.00	\$8.00	\$16.00	\$60.00
dehydrator		\$5.00	\$10.00	\$20.00	\$75.00
fire grill large	large folding	\$2.50	\$5.00	\$10.00	\$37.50
fire grill small	small folding	\$1.50	\$3.00	\$6.00	\$22.50
fuel bottle	1L empty (fuel extra)	\$2.00	\$4.00	\$8.00	\$30.00
fuel (white gas)	per L consumed	\$6.00			
ground sheet	polyetheleyne	\$0.50	\$1.00	\$2.00	\$7.50
headlamp		\$2.00	\$4.00	\$8.00	\$30.00
hiking poles	Balck Diamond telescopic	\$4.00	\$8.00	\$16.00	\$60.00
lantern	white gas	\$3.00	\$6.00	\$12.00	\$45.00
oven	folding, back country or dutch	\$3.00	\$6.00	\$12.00	\$45.00
overbag	adds extra warmth	\$4.00	\$8.00	\$16.00	\$60.00
pot set - large	large stainless - 4 pots & fry pan	\$5.00	\$10.00	\$20.00	\$75.00
pot set - small	small stainless - 2 pots	\$3.00	\$6.00	\$12.00	\$45.00
reflector oven	folding	\$2.00	\$4.00	\$8.00	\$30.00
sleeping bag	3 season to -7	\$8.00	\$16.00	\$32.00	\$120.00
sleeping bag	winter below -10	\$11.00	\$22.00	\$44.00	\$165.00
sleeping bag liner	fleece or flannel	\$2.00	\$4.00	\$8.00	\$30.00
sleeping pad - foam	evazote foam	\$2.00	\$4.00	\$8.00	\$30.00
stove - 1 burner	MSR Whisperlite with fuel bottle (fuel extra)	\$5.00	\$10.00	\$20.00	\$75.00
stove - 1 burner	1 burner Coleman	\$3.00	\$6.00	\$12.00	\$45.00
stove - 2 burner	2 burner Coleman	\$5.00	\$10.00	\$20.00	\$75.00
stove - 3 burner	3 burner Coleman	\$8.00	\$16.00	\$32.00	\$120.00
stuff sac	various sizes and styles	\$0.50	\$1.00	\$2.00	\$7.50
fly (tarp) - nylon	12x12 coated nylon	\$10.00	\$20.00	\$40.00	\$150.00
tarp - plastic	10ft x 12ft woven polyethylene	\$3.00	\$6.00	\$12.00	\$45.00
tent - 2P	2 person, 3 season	\$12.00	\$24.00	\$48.00	\$180.00
tent - 3P	3 person, 3 season	\$15.00	\$30.00	\$60.00	\$225.00
tent - 4P	4 person, 3 season	\$18.00	\$36.00	\$72.00	\$270.00
water filter	MSR ceramic pump	\$4.00	\$8.00	\$16.00	\$60.00
water jug	20L - blue plastic	\$1.50	\$3.00	\$6.00	\$22.50

	Climbing				
climbing shoes		\$8.00	\$16.00	\$32.00	\$120.00
helmet	Edelrid, Petzel	\$4.00	\$8.00	\$16.00	\$60.00
sit harness	Pat Littlejohn, Black Diamond	\$5.00	\$10.00	\$20.00	\$75.00

	Ice Climbing				
boots - hard shell	Scarpa	\$13.00	\$26.00	\$52.00	\$195.00
crampons - pair		\$5.00	\$10.00	\$20.00	\$75.00
helmet	Edelrid, Petzel	\$4.00	\$8.00	\$16.00	\$60.00
mountain axe - each	Laprade	\$3.00	\$6.00	\$12.00	\$45.00
sit harness	Pat Littlejohn, Black Diamond	\$5.00	\$10.00	\$20.00	\$75.00
technical axe - each	Stubai with tools	\$6.00	\$12.00	\$24.00	\$90.00

	Maps & Charts				
GPS	Garmin GPS Map 76 or 62	\$8.00	\$16.00	\$32.00	\$120.00
Map - topo	1:50,000 1:100,000 1:250,000	\$1.00	\$2.00	\$4.00	\$15.00
Мар	nautical charts	\$1.00	\$2.00	\$4.00	\$15.00
map case	clear vinyl	\$2.00	\$4.00	\$8.00	\$30.00
map tube	rigid ABS	\$2.00	\$4.00	\$8.00	\$30.00

	Packs				
canoe pack	Ostrom Outdoors	\$6.00	\$12.00	\$24.00	\$90.00
external frame	variety	\$5.00	\$10.00	\$20.00	\$75.00
internal frame	variety in various sizes	\$9.00	\$18.00	\$36.00	\$135.00
stuff sac	variety	\$0.50	\$1.00	\$2.00	\$7.50
compression sac	variety	\$1.00	\$2.00	\$4.00	\$15.00
barrel pack	with 70L barrel	\$7.00	\$14.00	\$28.00	\$105.00

	AV/Electronics				
tripod		\$5.00	\$10.00	\$20.00	\$75.00
binoculars		\$3.00	\$6.00	\$12.00	\$45.00
radio - GMRS	Motorola	\$3.00	\$6.00	\$12.00	\$45.00
radio - handheld m	arine	\$7.00	\$14.00	\$28.00	\$105.00
GPS	Garmin GPS Map 76 or 62	\$8.00	\$16.00	\$32.00	\$120.00

	Paddling				
Canoeing					
canoe package	canoe, 2PFD, 2 paddles bailer and throw bag	\$35.00	\$70.00	\$140.00	\$525.00
canoe	Tripper, Prospector	\$25.00	\$50.00	\$100.00	\$375.00
canoe - WW rigged	with float bags and thigh braces	\$32.00	\$64.00	\$128.00	\$480.00
canoe paddle	wood - square blade	\$3.00	\$6.00	\$12.00	\$45.00
canoe paddle	wood - ottertail	\$4.00	\$8.00	\$16.00	\$60.00
canoe paddle	aluminium/ABS	\$2.50	\$5.00	\$10.00	\$37.50
floatation	floatation set 2 piece	\$6.00	\$12.00	\$24.00	\$90.00
noatation	nodiation set 2 piece	ψ0.00	Ψ12.00	Ψ24.00	ψ50.00
Kayaking - River					
kayak package	kayak, paddle, throw bag, skirt, PFD, helmet	\$32.00	\$64.00	\$128.00	\$480.00
river kayak	Perception, Dagger, Riot	\$20.00	\$40.00	\$80.00	\$300.00
kayak paddle	fibreglass	\$4.00	\$8.00	\$16.00	\$60.00
spray skirt		\$4.00	\$8.00	\$16.00	\$60.00
bilge pump		\$3.00	\$6.00	\$12.00	\$45.00
floatation	floatation set 4 piece	\$6.00	\$12.00	\$24.00	\$90.00
Kayaking - Touring					
solo package	kayak, paddle, throw bag, skirt, PFD, pump	\$32.00	\$64.00	\$128.00	\$480.00
solo kayak	solo	\$20.00	\$40.00	\$80.00	\$300.00
tandem package	kayak, 2 paddles, throw bag, 2 skirts, 2PFD, pump	\$45.00	\$90.00	\$180.00	\$675.00
tandem kayak	tandem	\$26.00	\$52.00	\$104.00	\$390.00
kayak paddle	fibreglass	\$4.00	\$8.00	\$16.00	\$60.00
spray skirt		\$4.00	\$8.00	\$16.00	\$60.00
bilge pump		\$3.00	\$6.00	\$12.00	\$45.00
Misc.					
deck compass		\$2.00	\$4.00	\$8.00	\$30.00
deck light		\$2.00	\$4.00	\$8.00	\$30.00
dry bag	10L, 20L, 30L	\$3.00	\$6.00	\$12.00	\$45.00
food barrel	70L with harness	\$7.00	\$14.00	\$28.00	\$105.00
olive barrel	20L	\$1.00	\$2.00	\$4.00	\$15.00
paddle float	rigid foam block	\$2.00	\$4.00	\$8.00	\$30.00
paddle jacket		\$5.00	\$10.00	\$20.00	\$75.00
PFD	Lotus Designs or Salus	\$4.00	\$8.00	\$16.00	\$60.00
pogies	neoprene hand covers	\$2.00	\$4.00	\$8.00	\$30.00
rescue throw bag	15m floating line	\$3.00	\$6.00	\$12.00	\$45.00
trailer	10 boats	\$75.00	\$150.00	\$300.00	\$1,125.00
wetsuit	Framer John	\$8.00	\$16.00	\$32.00	\$120.00
white water helmet	Protec	\$4.00	\$8.00	\$16.00	\$60.00

	Snow Based				
04."	_				
Skiing		***	<b>A</b> 40 00	<b>***</b>	<b>*</b>
skate ski package	skis, poles, boots	\$20.00	\$40.00	\$80.00	\$300.00
skate skis		\$9.00	\$18.00	\$36.00	\$135.00
skate boots		\$8.00	\$16.00	\$32.00	\$120.00
skate poles		\$3.00	\$6.00	\$12.00	\$45.00
classic package	skis, poles, boots	\$20.00	\$40.00	\$80.00	\$300.00
classic skis		\$9.00	\$18.00	\$36.00	\$135.00
classic boots		\$8.00	\$16.00	\$32.00	\$120.00
classic poles		\$3.00	\$6.00	\$12.00	\$45.00
telemark package	skis, poles, boots	\$25.00	\$50.00	\$100.00	\$375.00
telemark skis		\$10.00	\$20.00	\$40.00	\$150.00
telemark boots		\$12.00	\$24.00	\$48.00	\$180.00
telemark poles	alpine ski poles	\$3.00	\$6.00	\$12.00	\$45.00
climbing skins	self adhesive	\$7.00	\$14.00	\$28.00	\$105.00
wax kit	cork, scraper, 5 waxes	\$1.50	\$3.00	\$6.00	\$22.50
Misc.					
crazy carpet	red plastic	\$1.00	\$2.00	\$4.00	\$15.00
ice auger	manual	\$4.00	\$8.00	\$16.00	\$60.00
ice fishing jig	wooden	\$2.00	\$4.00	\$8.00	\$30.00
pulk	plastic sled with handlebar	\$8.00	\$16.00	\$32.00	\$120.00
shovel - large	aluminium	\$4.00	\$8.00	\$16.00	\$60.00
shovel - small	plastic	\$3.00	\$6.00	\$12.00	\$45.00
snow boots	"mouse boots"	\$5.00	\$10.00	\$20.00	\$75.00
snow saw	aluminium	\$2.00	\$4.00	\$8.00	\$30.00
snowshoes	wooden with binding	\$7.00	\$14.00	\$28.00	\$105.00
snowshoes	Sherpa or GV - metal	\$12.00	\$24.00	\$48.00	\$180.00

	Cycling				
touring bicycle		\$30.00	\$60.00	\$120.00	\$450.00
bike lock		\$2.00	\$4.00	\$8.00	\$30.00
bike helmet		\$3.00	\$6.00	\$12.00	\$45.00
panniers	set of two front or rear	\$6.00	\$12.00	\$24.00	\$90.00

#### **Operational Notes:**

- \* Rates apply to time out NOT time used
- \* Equipment will be available only when not required for ORPT course use
- \* All rates and equipment availability are subject to change without notice.
- \* All rates are subject to applicable taxes.
- \* All rentals must be paid for in advance (refunds may be available for early returns).
- \* Security/damage deposits may be required for certain items.
- \* Items must be acquired or returned during normal operating hours.
- \* Late returns will be billed at one full day rental for every day or part day late.

last update: June 23, 2020